PUCP Search for Long-Lived Heavy Neutrinos at the
LHC with a VBF Trigger
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Type 1 Seesaw Lagrangian
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Type 1 Seesaw Lagrangian Extended Model
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The VBF Trigger
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The VBF Trigger
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Cuts used for displaced
dileptons search

pr(e) > 10 GeV
pT(,LL) > 8 GeV
(0| <24
AR(u, e) > 0.5
VLIE+ L2 < 40 mm
L, < 300 mm
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Cuts used for displaced
dileptons search

pr(e) > 10 GeV
pr(p) > 8 GeV
[ () | <24
AR(u, e) > 0.5
VLIE+ L2 < 40 mm
L, < 300 mm
1S Ly — pj Ls |

dy =
P4

e SR III: |do|.,, > 1000 ym
S ‘ /J‘%

e SR II: |dy|c,, > 500 um and at least one of the leptons outside of SR III.
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e SR I: |dyle,, > 200 um and at least one of the leptons outside of SR II.



Cuts used for displaced

Cuts used for displaced
dileptons search multitrack jets search
pT(jl) > 25(70) GeV
pT<6) > 10 GeV pT(j2) N 25(_) GeV
pr(i) > 8 GeV :
AR(, ©) S 0'5 # of tracks > 5
\/L2 —|1L2 < 40 mm Mmpy > 10 GeV
L. < 300mm do| > 2mm
Pz Ly — Py Lo (\/Lﬂ% T Lilz/)min 4 mm.
(VIZ+1L12) 300 mm.
L, < 300 mm.

e SR III: |dg].,, > 1000 gm
e SR II: |dy|c,, > 500 um and at least one of the leptons outside of SR III.

e SR I: |dyle,, > 200 um and at least one of the leptons outside of SR II.




Final number of events with displaced dilepton for ayz = 107°(1077)
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Final number of events with displaced dilepton for ayz = 107°(1077)
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Sensitivity with displaced multitrack jets for
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Sensitivity with displaced multitrack jets for ayy = 107°(107%)
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Sensitivity with displaced multitrack jets for axy = 107°(107?)
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